PARTS INCLUDED

1 Right Side Light Assembly
1 Left Side Light Assembly
1 Hardware Kit Including:

12 1/4” Flat washers

1/4-20 x 3/4” Bolts

1/4-20 Locknuts

Dielectric grease packet
Run/Turn/Brake Splitter Harness
6" Cable ties

(o2 I R

INSTALLATION INSTRUCTIONS

1. Park on a level surface and shut off the motorcycle. Ensure the engine has time to cool
before installation.

2. Remove your saddlebags by turning the two fasteners inside counter-clockwise. Lay
your bags on a soft surface, out of the way. Remove the seat and set it aside, out of the
way.

3. Identify which Ciro Filler Panel Light goes to which side by looking at the back. They are
marked L & R.

4, Locate the black lighting connector at the rear of the under-seat area. Disconnect this
and plug the Ciro Run/Turn/Brake splitter harness in-line with it. Plug in the right and left
LED filler panel lights to test and understand the functions. Brown wire should be right,
violet should be left. Unplug the lights and set them aside. (FIG.1)

CONNECTOR

G0140047 REV. -

)

!

LED FILLER PANEL LIGHTS ALL rReo

NOTE:

Ciro® warrants that products sold
hereunder to the original purchaser,
if maintained and operated under
normal conditions, shall be free from
any defects in materials and
workmanship for a period of (3)
years from date of purchase, and a
lifetime warranty against LED failure.

Ciro will have no obligation if the
customer cannot show proof of
purchase.

Warranty will not be granted unless
the part is properly installed and
maintained.

Ciro will not be liable for any
consequential and incidental

| damages, including labor, or non-Ciro
1 products.

' Please visit our website Ciro3d.com

for our complete warranty policy.



PAGE 2

5. Choose a light assembly then insert the wire from the light through the large chrome
oval opening in the saddlebag brace.

6. Place the light housing in the large opening with the tabs on the inside surface. Align
the holes of the light housing with those of the oval.

7. Insert a 1/4-20 x 3/4” bolt and washer through the aligned holes from the outside.
Fasten on the other side with a washer and 1/4-20 locknut. (FIG.2.) Do not over-tighten

8. Route the wire up along the top of the outer edge of the fender and secure it with cable
ties. When you get to the air line, follow it to get the wire into the space under the seat.

(FIG.2.)

9. Repeat on the other side.

10. Plug the wires coming from the rear filler lights into the wires coming from the splitter
harness. The brown wire should be on the right, and the violet wire on the left. (FIG.1.)

11. Turn the bike on to accessory power and verify that all lighting is functioning as expected.

12. Re-install your saddlebags and observe the angle at which the lights are sitting. If clearance is ]
an issue anywhere, use the included extra washers to shim the lights at their mounting point. i

G0140047 REV. -



